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1.

frfofeg & & @m-ar  em
e & |t 787 2 ?

1) HHAFEG & +EH

2) H=~Iar &1 M|

3) YiFM @ Ew

4) Yd @ |

Freifafad & @ d9-01 g8 & &
fepaTees Terer & ' 7

1) HIg H b fSET g

2) TQFISY & qrE-TeT TOeoT

3) AR B @IS T

4) WARRE-f g

Freifatad & | @F-a1 aR e 56K
H U TE T ?

1) e g

2) fascvene® usH

3) TEAHIEH U

4) R wE g

Rt & o fabre fsid & STgER,
fepQMRTareen ® :

1) S FeriaE @ oTae
2) e Afcepdr @ aTaR
3) UNIE Afoehar @i sTaeen
4) T@ET Afqear H efaeen

[ Level-2 /1203 ]

Which of the following laws is not
related to heredity ?

1) Law of Similarity
2) Law of Variation
3) Law of Regression

4) Law of Progression

Which of the following is not a
performance test of intelligence ?

1) Koh's Block Design Test
2) Alexander's Pass Along Test
3) Saguine Form Board Test

4) Stanford-Binet Test

Which of the following is not an
objective type question ?

1) Matching questions

2) Analytical questions

3) Multiple choice questions

4) Blank space questions

According to Moral Development
theory of Piaget, adolescent period
is:

1) Stage of moral realism
2) Stage of morality constraint
3) Stage of heteronomous morality

4) Stage of autonomous morality

P.T.O.
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5.

fr=ififeg & @ d9-91 fawar fEs
ERUR SR UES G NI RN CCAT IR TS A
P g ditharces SR § e 787
g7

1) SEHHYTE (T & &)
ARELEE

3) Sigar

4) GO

e Rl & <" § PE-

H Tel 78 © ?

1) ®is A & AR e Th-gHH
Tel Bl

2) Yl Friad fagwarelt & dey
T foa i

3) s framd ot gHuEr H
it ST BT &

1) foum iy
2) qUf fafy

3) IR faiy
4) 9rERes faiy

[ Level-2 /1203 ]
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Which of the
characteristics is not related to the

following

concrete operational stage of the
Cognitive Development theory
propounded by Piaget ?

1) Reversibility

2) Serialization

3) Animism

4) Conservation

Which statement is not correct in
context of individual differences ?
1) Two persons are not exactly

same.

2) Individual differences are
deviation in regards to
characteristics.

3) Individual

distinguish individuals in their

differences

totality.

4) Individual differences are the
sole result of heredity.

When the lesson to be learned by
a child is long and difficult and
requires a lot of understanding,
then which method of learning will
be appropriate ?

1) Spaced method

2) Whole method

3) Massed method

4) Incidental method
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1) A § Sieq

2) o 9 o

3) U | ST

4) §G § I

Frfefed & @ SF-a1 fabE & o

Rrsia 78 8 7

1) foebre SMYfEr T4 GEiERer &
SR B

2) s Yot Q@i e Bl

3) fomprd e 9 & STTERST &Il
2l

4) o W= ¥ fofe @ o)
o Bl

e midsie & ogaR S @
ST [ § Ao T ARl
FH FH GFH e Bl § ¢

1) dFeEn 2) e

3) TN 4) &

frfafag & @ fF-di fea<een
e [Jee H e a9
7 7

1) A & " wEeEye

RS
2) 41 |HITE q9ed
3) TEEH & @i

4) dR-ge
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8. Which teaching maxim 1is not
beneficial for the learning

10.

11.

disabled children ?

1) Simple to complex
2) Abstract to concrete
3) Direct to indirect

4) Known to unknown

Which of the following is not a
principle of development ?

1) Development is the product of
heredity and environment.

2) Developmental pattern is

predictable.

3) Development follows linear

path.

4) Development proceeds from
general to specific.

According to which psychologist,
the role of social and cultural factors
are important in the cognitive
development of children ?

2) Piaget

4) Hull

1) Vygotsky
3) Bruner

Which of the following is not a
common characteristic of social
development in adolescence ?

1) Harmonious relationship with
parents

2) New social grouping
3) Search for identity

4) Hero-worship

P.T.O.
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12. FHgae & Wios o e #
PF-G STRIT YRGSl @
WX q qet 78 § 7
(a) e ug fafeg
(b) 318 STIqarR® dae
(c) QISR Fqen g &=
(d) I oTEY AR ARk

B

7& FE F TIT BN :

%< -

1) (a) W@ (b)

2) (b) W (c)

3) (a) T (@)

4) (c) W@ (d)

13. oYM U faq il qHas gishanett
% TN HIGAT S ©

1) FATHOMHD HIEAT
2) THEH HRET

3) HIMIE® e
4) WEES HEA

14. 9ME fFm & =y § eH-9
freror-otfry worify et & fow
Taifys TR ® ?

1) & 999

2) HET

3) TR

4) HERE Isa

[ Level-2 /1203 ]

12.

13.

14.
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Which stages of Kohlberg's Moral
Development theory are not related
to level of conventional morality ?

(@) Individualism and exchange

(b) Good interpersonal relations

(c) Maintaining the social order

(d) Social contracts and individual
rights

Choose the correct code :

Code :

1) (@) & (b)
2) () & ()
3) (@) & (d)
4) (0 & (9

Learning through mental

processes like attention and

reflection is called :

1) Imitative learning
2) Motor learning

3) Cognitive learning

4) Affective learning

Which teaching learning strategy is
most useful for students in context
of social learning ?

1) Field trip
2) Lecture
3) Experiment

4) Brain storming
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Yot & offeed Raeid § w@rias
Ud FHEH IEUR b A AgEET Bl
PV-T1 PRE THD @9 F  FHIA
T& wXa E ?

1) TETh & TEABT B IYYH

a1

2) I H TGN
3) [EREE ardERe
4) UH B FHI

frfafed & & PM-a1 dRH  RE
AMFM Uik @l ywifad 78 H
g7

1) TR & IRR® &9

2) [ @ AR e

3) farerh o1 fawgasg s

4) fareres & GE BN

frfafed & ¥ d9-T1 #IR®
e ®RH ® S gedl @
faepre @l gad 78T e 7

1) N9

2) TR ® AN W H HMRE

GG

3) gHem

4) ST Rt

dFe® & ofm RrEid & gER
fpe drem & fam § et ® 7

1) qRar & +Ed

2) AXE H +EH

3) UHE N Id
4) g ufeichar &1 =M
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In Pavlov's Conditioning theory,
which factor does not positively
affect the conditioning between
natural and artificial stimuli ?

1) Appropriate timing of stimuli

presentation
2) Repetition of stimuli
3) Controlled environment

4) Lack of motive

Which of the following factors does
not affect the teaching learning
process ?

1) Physical appearance of teacher
2) Mental health of teacher

3) Content knowledge of teacher

4) Communication skills of teacher

Which of the following factor does

not influence the development of

child under environmental factors ?

1) Nutrition

2) Mental stress of the mother
during pregnancy

3) Accidents

4) Endocrine glands

Law of use' and 'Law of disuse' is
related with which law of learning
according to Thorndike's learning
theory ?

1) Law of readiness

2) Law of exercise

3) Law of effect

4) Law of multiple response

P.T.O.
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19. Frifofed & & SF-a1 W ARERem
% il U 3T Sfquesl & g9 §
& 78 B 7

20.

21.

22.

RS Rraia g
1) 9o ygii Rrsia Tefhe

2) AR TR AEql
Rergia
3) uUle fid gead

4) Iqafer ARERem EESIRE]
R

T e | aed ®

1) 9o &9 9 dfgd s== & [
faremr

2) R F== & fw R

3) MM T R e % U
faremr

4) 99 g1 3 0 R

frfafad & | $H-91 yAEr et
1 U Rrsiq 7@ T ?

1) SAREReT

2) AR Tgd

3) fipa SuRkafa

4) Tiage

N & ogeR, U Rees & fEiE
B P9 ITaqq WX @ AW d@ o
S & FAE BT e ?

1) U SAEH

2) THE HIEN A

3) I\ M

4) fa¥es oAt

[ Level-2 /1203 ]

19.

20.

21.

22.
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Which of the following pair is not
correct regarding motivational

theories and their proponents ?

Motivational Theories Proponent

1) Instinct theory Atkinson

2) Need Hierarchical Maslow

theory
3) Drive theory Woodworth
4) Achievement Mc'Clelland

Motivation theory

Inclusive Education means :

1) Education for socially deprived
children

2) Education for disabled children

3) Education for
disabled children

4) Education for all children

normal and

Which of the following is not a
principle of effective learning ?

1) Motivation

2) Individual approach

3) Passive attendance

4) Feedback

According to Gagne, to what
highest level of learning should a
teacher strive to take students ?

1) Concept learning

2) Problem solving learning

3) Rule learning

4) Discrimination learning
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23. @A &% P freid 7 gw @
e 9 vegell W &« fam T ® 7

(a) TR

(b) AT

(c) HihaTH®

(d) GeieT®

7&7 F< H =TI HITC
1) (a), () W (c)

2) (b), (c) T (@)

3) (a), (b) T (d)

4) (a), (c) T (d)

24, 9 T F ARFTEAT W HE-E
ferer s&AY IUYHT 7o & 7
1) @R
2) SUARIAS &
3) AXE FH
4) HeH( o fafy

25. e H wWihd | Faer
Y @ T @& Fe H I W

() W FA
(b) T

(c) STE-Hixadm
(d) Efeataar

1) (3 W (b)
2) (b) T (9
3) (a), (b) W (c)
4) (a), (c) T (d)

[ Level-2/1203 ]
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25.

GET IT ON
Google Play

[9/A]

Which
intelligence are emphasized in the

three aspects of

triarchic theory of Sternberg ?
(a) Componential

(b) Experiential

(c) Operational

(d) Contextual

Choose the correct code :
Code :

1) (@), ®) & (c)

2) (b), (c) & (9)

3) (@), (D) & (d)

4) (@,() & (d

Which educational intervention is
not suitable for slow learners ?

1) Acceleration

2) Remedial teaching

3) Drill work

4) Cooperative teaching method

Choose the correct code for the
approved social behaviour pattern
in adolescence :

(a) Leadership skills
(b) Empathy
(c) Ego-centrism
(d) Stereotyping
Codes :
1) (@ & (b)
2) (b) & (d)
3) (@), () & (o)
4) (@,() & (d
P.T.O.
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26. HAq U9 AUH GHT B Fo A
g

(a) TR GO A=

(b) JUGH HFWA & & FRRR
REIGSE

(c) A T G- A A @
i HTT

(d) Daw AfrH Iuwfe T

7& FE F TIT BN :
% -

1) (b) W (d)

2) (b) T ()

3) (a), (b) T (c)

4) (b), (c) W (d)

27. 98 3 S ‘e diE@’ @ gedn adl
¢ AR e & g el @ o1
qEERT & W ik g
I &, I8 FEAN ©

1) fafdre fQren
2) Yufasher farem

3) Ui farem
4) guEsh fawEm

[ Level-2 /1203 ]

26.

21.

GET IT ON
Google Play

The true meaning of continuous

and comprehensive evaluation is:
(a) Taking frequent tests

(b) Taking continuous tests at

appropriate intervals

(c) To evaluate scholastic and co-

scholastic both aspects

(d) Measuring only educational

achievements
Choose the correct code :
Code :
1) () & (d)
2) (b) &(c)
3) (@), (d) &(c)
4) (), (c) &(9)

The education which promotes
leaming by doing' and ensures the

students interaction with their

environment to learn, that is known as :
1) Special education

2) Progressive education

3) Integrated education

4) Inclusive education
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28. gfeaiym feenfl & fog @F-w
feer wWeme  WOER SWERT 7@
et ?

1) s aesh
2) el e
3) e fegw
4) I gL HFRE

29. HARFM H TAMAT HI A e
PH T F&l FE B T BT

(a) SRR

(b) ST

(c) IRt

(d) Aqg=H
[N

1) ()9 (d)

2) (a), (b) T (d)
3) (a)TW (¢)

4) (a), (), (c) T ()

30. T% S Fowg ol F=d & [Q qon
AR g ¥ X H § g9en Sa
I ®
1) feeaieRma
2) fewiforan
3) feanithar
1) e

28.

29.

30.
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Which teaching support material is
not useful for visually impaired
students ?

1) Braille materials
2) Talking books
3) Film strips

4) Embossed map

Choose the correct code of the

following factors, which affects

learning :

(a) Motivation

(b) Aptitude

(c) Interest

(d) Attention

Code :

1) (©)&(d)

2) (a), (®) & (d)

3) @&(c)

4) (@), ), (©) & (d)

A learning difficulty that create
problem for a child to distinguish
letters and words is :

1) Dysplasticia
2) Dyslexia

3) Dysgraphia

4) Dyscalculia

[ Level-2 /1203 ]

P.T.O.
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31

32.

33.

34.

. AW = & d@Eg § FE-a g
oGIT B 7
1) 9vel - fosia
2) fory - iy
3) THYY - aHH
4) dsEr - feas

T H HH-G7 THEIE ST
T & e ghfa 787 8 7

1) TSRO - Y YT

2) [ - AR TYEW
3) @ifehd - HOT TYEY

4) RAMEIRT - FIEH TGET

= & | diF-a1 & g o g
q gAfera 787 & ?

1) Sfid - o EiY

2) TAgs - o €Y

3) WeRW - gha @Y §f

4) TGS - o1 @) 9y

O, qA T IR A9 B HA
AR WM ©

1) TR, &S, A

2) &, %3, TIY

3) %US, &, D

4) &S, %S, T

[ Level-2 /1203 ]

35.

36.

31.

38.

o ey 1 e QEehlics h
e T& 8 ¢

1) TH EeThY = T

2) T® TH HTN MA TEl I B

3) €l EFT S STEgY S

4) AAU® IO B BE]  H

e

A9 THH GO T SO AlbI B
el e ®

1) Ted @ 9% § A S

2) STFYSIM Ga< Bl B

3) AW & G R B Fen A
4) I R FH FA

I % U T q= & ey |
HI-91 JH OFGTT & 7

1) Rl 9 & T & - gl
2) @ et 3 9 g1 & - o

3) FE HH B B g0 - b

4) foor oIy @i e =87 - fsinm

g foehea & weal § A YRS
T & ?

1) Geio, el
2) Waw, Gead
3) i, ARty
4) TEHI, A
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42.
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o wHiEm  H EREE-hEEE
E-JH H FAL: 7o 7Y © 7

1) X, ¥

2) %I, Y

3) i, g8

4) Fu,

et 4 @ a-ar 9= ‘agw @
e 78§ ?
2) P

1) 99
3) R 4) FER

gﬁw%ﬁﬁaﬁaﬁﬁ—wzﬁww’w

?

1) FE T 9= 9 G5 @ g
wEifRd et 8, 39 fadwer #eq B

2) ‘q, T, T TH 9,
MR EICEAREE L IR C L]

3) ‘B ¥ HE B Ted & -
TEaEs G99 H ST D
4) Hedaresh GO H e 9% @l

51 0 I 7 | 2 S

gw%ﬁﬁaﬁﬁ?—wzﬁaﬁWﬁ

?

1) fqaras el & YAN €ed
(ol & otfafed) whae #
2T B

2) 3, TR, & S Aara®
T B SEET 2

3) ‘GogaE® W ¢
gﬁaﬁzﬁw%é’rﬁa’qﬁaﬁ
|

4) v, witw Sw At
ATaarah Hsl & IAEL 2
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45.

GET IT ON
Google Play

[13/A]

W & deg # dE-A g E
7 T 7

1) ¥ T ST BT - e
ERIC

2) HW T HE B W D -
IR FERCIEC R

3) W A el w=rg o -

PESCICCAR Rt
4) I8 @ F GIR W © -

ferotares gaa
frr # 9§ aF-a1 9= ‘oaES
dfesd g’ @ it 78 ® ?
1) g
2) BT
3) aged
4) JqA
S @ g @ fRE e @

=-JH GFEIT © 7
1) Y - M, Ry
2) M - e, =
3) T - T, Wi

4 ¥ - ¥ gd

[ Level-2 /1203 ]
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Direction : Answer the following questions by selecting the most appropriate option.

46. Choose the correct option that
gives the correct passive voice of
the given sentence :

Have they done the work ?

1) Have the work been done ?
2) Has the work been done ?
3) Had the work been done ?
4) Will the work be done ?

471. Choose the option that gives the
correct meaning of the phrasal
verb :

Turn out

1) to evict someone

2) to kill someone

3) toridicule someone

4) to give legal notice to someone

48. Fill in the blank with the most
appropriate modal auxiliary :
Your mother is seriously ill. You
........... leave for home at once.

(obligation)
1) needs 2) might
3) could 4) must

49. Choose the option that gives the
correct meaning of the given
phrasal verb :

Send for

1) start on a journey
2) reach to a decision
3) call someone in

4) improve

[ Level-2 /1203 ]

50.

51.

52.

Change the narration to Reported
speech and choose the right option :

I said to him, "Do you know when
she will go home ?"

1) Itold him if he knew when she
will go home ?

2) I said to him that did he knew
when she would go home.

3) I asked him if he knew when
she would go home.

4) I said to him that did he know
when will she go home ?

Choose the part of sentence which
is incorrect :

Has Sachin / not breaked / the
&) ®)

record held / by Bradman who

© @)

made 10,000 runs in his career ?
1) A 2) B
3) C 4) D

Choose the correct option for the
given one word :

Sinecure
1) one who lives by himself

2) an office with no work but high
pay
3) surgery without anesthesia

4) cure by naturopathy
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53.

54.

55.

= |V

Fill in the blank with the most
appropriate meaning of the
underlined idiom :

Rakesh had to deal with all his
problems by himself, because he
didn't want to depend on his fair
weather friends.

1) Friends who come from rich
family.

2) Friends who are loyal only
during a time of success.

3) Friends with whom one lived in
one's college time.

4) TFriends who no longer live
with you.

Choose the correct tense form to
fill in the blank :

She jumped off the train while it

1) moved
2) had moved
3) has moved

4) was moving

Choose the correct tense form to
fill in the blank :

The Headmaster ............ to meet
you.

1) want
2) wants
3) is wanting

4) was wanting

56.

51.

58.

59.

60.

GET IT ON
Google Play

[15/A]

Choose the correct option to fill in
the blank :

........... had the police reached
than the thieves fled.

1) Assoon as

2) No sooner

3) Scarcely

4) Aswell

Choose the correct preposition to
fill in the blank :

He told all .......... the incident.

1) between 2) among

3) Dbeside 4) about
Choose the most appropriate

preposition to fill in the blank :

I am going home the day ...........
tomorrow.

1) in 2) on

3) after 4) at

Choose the most appropriate
preposition to fill in the blank :
Mohan gazed ............ the sky in
the hope of rain.

1) at 2) unto

3) Dbesides 4) into

Choose the option that gives the
correct meaning of the given
phrasal verb :

Give in
1) distribute 2) deposit
3) donate 4) surrender

[ Level-2 /1203 ]
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Direction : Answer the following questions by selecting the most appropriate option.
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61.

62.

63.

A, 99 R § qi= # 8 fHl =
R T I YA} 2 fpl gear § g
T YK 5 fHHl ToRm 8, O d®
oA fg & dedl § o9 fpw fRem
dRaq e ?

1) IRor-uidey

2) JaX-qiveH

3) IR-d

4) R

I Rl g W § PROJECT' &l
'CEOPRT' @ 'PLANE' & 'ELNP'
ferEr ST 2, @ 'ORGANISED' 1 341
%S WO H {68 SN foren S ?

1) ADEGIOSR

2) ADEGIROS

3) ADEGOIRS

4) ADEGIORS

qeH B Th G H, A S @ 9
79 T B T @ § 123 ®F W
g, It o7 Wl ¥ wWaErR uRadd
fPar ofrar B, @ A & S W% 4@
22d1 WM & S B, O uf § g
qEH B @ ¥ ¢
1) 27

3) 33

2) 31
4) 34
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61.

62.

63.

A travels 8 km from East to West and
turns right and travel 2 km. Now
again he turn right and travel 5 km. In
which direction is he now positioned
with reference to starting point ?

1) South-West
2) North-West
3) North-East
4) South-East

If 'PROJECT is coded as 'CEOPRT'
and 'PLANE' is coded as 'ELNP' then
the 'ORGANISED' will be coded
as:

1) ADEGIOSR

2) ADEGIROS

3) ADEGOIRS

4) ADEGIORS

In a row of boys, A is 7th from the
left and B is 12th from the right. If
they interchange their positions A
becomes 22nd from the left. How
many total boys are there in a

Tow ?
1) 21 2) 31
3) 33 4) 34
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64. TF URAR §, A, X & U B, B, Y #
AT, AN XTZ P gAY A, A
frfafad ®oi § @ dF-T1 A
ffdaa w9 & @& 78 & ?

1) B,A & Tl ©
2) B&H T G2
3) X,ABHEAR

4) Y,Z P 98T 2

65. I T AT A ToT @ ©

0,3, 9, 12, 36, 39, 42, 120, 360
1) 12 2) 39
3) 42 4) 360

66. Ifa A 3R feem # 8 fEHl SR a9
e TE oY 6 Al e & o
g II-d Rem A gget 10 R
To 8, O A URE fog @ R
U We?
1) 0 fpet
2) 8 fl
3) 10 feet
4) 12 fee

67. a 10 AR FFet +E & (gj

ar
I & § 8 9 @ 2, af S #e
% AV HE A 12 B F O =9 B
foq fohoe Tl @l STaYTRar B 7

1) 6 2) 8
3) 10 4 12
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64.

65.

66.

61.
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[17/A]

In a family, A is the father of X, B is
the mother of Y. The sister of X and
Z is Y. Which of the following
statement is definitely not true ?

1) Bisthe wife of A
2) B has a daughter
3) XisthesonofA
4) Y isthe sister of Z

Find the wrong number in the
given series :

0, 3,9, 12, 36, 39, 42, 120, 360
1) 12 2) 39
3) 42 4) 360

If A walks 8 km South then turn
right and walks 6 km and again
turns North-East and walks 10 km.
How far is A from the starting
point ?

1) Okm
2) 8km
3) 10km
4) 12km

th
If 10 persons can complete (gj

of a work in 8 days, then how many
persons are required to complete
the remaining work in 12 days ?

1) 6
3) 10

2) 8
4) 12
P.T.O.
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68.

69.

10.

11.

12.

W T O @ SR U B B
Rree oA 32 & 3 AR Prge @
aia: Bowr 6 T §, afk B @ ot
576 &9 QU B, A 3EH SR B :

1) 4 99 2) 5 I

3) 6 I 4) 8 i

I wh FEfa sgye d R @
geqr 27 B, o FHhl Sel  al
de e
1) 6
3) 10

2) 9
4) 12

& g arge A T B #, dfer
WNIW\H@LIICIEF‘:[?TIS:ZWS:ll
3, 3 Mg argell § @ A & 7 fE
wd B @ 21 @ e @& T8 fE
iy I S 5, 39 % fas g A
qTe T ST B STIAT H o 7

1) 1:2 2) 2:1

3 2:3 4 1:1

I 7 cosec © — 3 cot § = 7 & 0
gOH Tgeist § &, @ 7 cot 6 - 3
cosec§ H TN © :

1) 3 2) 5

3) 3/7 4) B8/7

I TF g H, T GHeg S ABC
Sfafifed fam S &, Brgst & oWt &
g T Wy @Rl g9 g
frygor =

1) fquqsTg Bygs

2) dHigag B
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68.

69.

10.

11.

12.

GET IT ON
Google Play

The base of a right prism is a
triangle whose perimeter is 32 cm
and the inradius of the triangle is
6 cm. If the volume of the prism is
576 cc, then its height is :

1) 4 cm 2) 5 cm

3) 6 cm 4) 8 cm

If the number of diagonals of a
regular polygon is 27, then the
number of sides is :

1) 6 2) 9

3) 10 4) 12

In two alloys A and B, the ratio of
copper and zinc is 5 : 2 and 3 : 4
respectively. 7 kg of alloy A and 21
kg of the alloy B are mixed
together to form a new alloy. What
will be the ratio of copper and zinc
in the new alloy ?

1) 1:2 2) 2:1

3) 2:3 4) 1:1

If 7 cosec 6 — 3 cot 6 = 7 where 0 is
in first quadrant, then the value of
7 cot 0 — 3 cosec O is equal to :

1) 3 2) 5

3) 3/1 4) 5/1

If an equilateral triangle ABC be
inscribed in a circle, then the
tangents at their vertices will form
another triangle is :

1) Scalene triangle

2) Isosceles triangle

3) Equilateral triangle
4) Right angled triangle
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16.
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U6 THER, T a8 15% aW W
ST B, TN AT Iq 18 TN ARH
g S g, df e 18% & S 39
I6] W H A (F0 H) ©

1) 600 2) 540

3) 350 4) 380

i Sl 1 g T ®
DBC, KIJ, QOP, _? , ZXY

1) VUW 2) USV

3) UTV 4) VTU

a TS GEell H W) 3 8, afR
ST N H AN 369 B, oA
el & A B

1) 25
3) 31

oo & Tk Aea H e,
AR B 12 A JT AYGS H 5
T E, A AR SEH AYBA 36 &,
g 2

1) 2706
3) 2796

2) 27
4) 33

2) 2736
4) 2766

kA ‘Q9eE @, B AN @', C
‘HeM FH’ T D PH B TR
HA Z, AW20C 12B8A2D 6
TR ¥

1) 16 2) 18

3) 32 4) 36
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13.

14.

15.

16.

11.

GET IT ON
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[19/A]

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more;
he would have gained 18%. The
cost price (in Rs.) of the article is :

1) 600 2) 540

3) 350 4) 380

The missing term of the following

series is:
DBC, KIJ, QOP, _ ? ,
1) Vuw

2) USV
3) UTV 4) VTU

ZXY

The
positive numbers is 3. If the sum of

difference between two

their squares is 369, then sum of
the numbers is :

1) 25
3) 31

2) 27
4) 33

In a division sum, the divisor is 12
times the quotient and 5 times the
remainder. If the remainder is 36,
then the dividend is:

1) 2706 2) 2736
3) 2796 4) 2766

If A denotes 'divided by', B denotes
'added to', C denotes 'subtracted
from' and D denotes 'multiplied
by, then 20 C 12 B8 A 2D 6 is
equalto:

1) 16 2) 18

3) 32 4) 36

P.T.O.
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78. Uh o 12 fhdiex &t g 3
i g9er, 18 fhaHie &l gl 9

1%

ufe gUeT AT 24 fheieY B g 4
Reeit ofd =ver @ 9 &I &, @ Fgol
g T F B AEd =9 B

1) 4 fpet/A0er

2) 4.2 /AT
3) 4.4 T /gue
4) 4.5 B /g0eT

79. RU T eyl § € 99 @ FQ

oY
1) 2) o
3) fER 4) A

80. I 16-4=2,9-3=2,81-3=4
2, 64—-4 F AN © :
1) 3 2) 2
3) 4 4) 6

8l. 1857 & fImle & anM, FrefaRag o
9 fheq Usas H fofeyr @emi W
STRHOT fehaT ?

1) THIA A

2) IHM STl
3) HieX g

4) TgE
82. &R # A vEisd & Ty R

1) W& e |

2) Rgha gu |
3) feA™ @I S Hear 4
4) RRueE @ o=iRe & |
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18.

19.

80.

8l.

82.

GET IT ON
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A person covers 12 km at 3 km/hr,
18 km at 9 km/hr and 24 km at 4
km/hr. The average speed in
covering the whole distance is :

1) 4 km/hr

2) 4.2 km/hr
3) 4.4 km/hr
4) 4.5 km/hr

Find the odd word from the given

alternatives :
1) Violin 2) Harp
3) Guitar 4) Flute

If16-4=2,9-3=2,81-3=4,
then the value of 64 — 4 is :

1) 3 2) 2

3) 4 4) 6

During the revolt of 1857, who
among the following attacked
British establishments in Rohtak ?
1) Tafzal Husain

2) Imam Ali

3) Mohar Singh

4) Harsukh Rai

The Morni hills of Haryana belongs
to:

1) Aravalli range
2) Hindukush range
3) Outer range of Himalayas

4) Inner range of Himalayas
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83. T ¥ fre ww@w F= Fel fem 83. In Haryana, where the Vulture
g7 Conservation Centre is located ?
1) S 1) Jind
2) fier 2) Pinjore
3) He=TG 3) Mahendragarh
4) ST 4) Ambala
84. efaren # fhae dedia § 7 84. How many Tehsils are there in
Haryana ?
1) 95 1) 95
2) 49 2) 49
3) 143 3) 143
4) 74 4) 74
85. BRI % fhE o d, @ar R 85. In which district of Haryana, the
ufeer  dReet Wer gt @ Khelo India Women's Archery
ST fopam T ? ranking competition was organised ?
1) dHEa 1) Sonipat
2) qMIad 2) Panipat
3) D 3) Karnal
4) IR 4) Yamunanagar
86. FoHloUHoHlo & TITHA, S HEIX 86. The UPSC  Chairman, who
§ gfamon & Toue a9 2 subsequently became the Governor
of Haryana :
1) Zfo To 3o FhEas 1) Dr. A.R. Kidwai
2) 5 oY g@ﬂ EE] 2) Shri Muzaffar Husain Berney
3) 4 dlo THo Twatl 3) ShriB. N. Chakravarti
4) & HEEN UHE 4) Shri Mahabir Prasad

[ Level-2 / 1203 ] P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

[22/A]

81.

88.

89.

90.

TqAA B HEA Bl OTEH IR
BECl d UiRuT e B BRAmm
HYHK S T off & Ao #

1) T BEA A AN
2) A fovEa

3) AW Ul A fRrEd
4) BTN &9

gREmT § [eed s off% e
SIS HeI Fel e © 7

1) qEad
2) STl
3) =g
4) HHEA

gRAT % G FE SAHEY B © 7

1) Sl S e
2) gfo TER e

3) ot fas gew

4) ZFdl FIEY HOSRI

g & Frefofed @@ & & @
O A0 & AW d AhuF g 7

1) S0 T A
2) T MG ™
3) e ACH T
4) TET TOT

81.

88.

89.

90.

GET IT ON
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The Scheme, which is being run by

the Haryana government to

replace paddy crop with more
tradition crops s :

1) Meri Fasal Mera Byora
2) Meri Virasat

3) Mera Pani Meri Virasat
4) Hamara Dhan

Where in the Haryana, the National
Institute of Fashion Technology is
located ?

1) Panipat

2) Ambala

3) Panchkula
4) Kurukshetra

Who is
Officer of Haryana ?

the Chief Information

1) Smt. Jyoti Arora

2) Dr. Jagbir Singh

3) Shri Vijay Vardhan

4) Smt. Kamaldeep Bhandari

Who among the following Sages of
Haryana was popularly known as
Puran Bhagat ?

1) Baba Mast Nath

2) Baba Gorakh Nath

3) Baba Chaurangi Nath
4) Baba Puran Nath

[ Level-2 /1203 ]
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91. w»iger yow e faust g §st At
g?
1) HfewaH
2) IS
3) 3&ar
4) d&3

92. §t I@ &% Aoy & HUIST M3

U3dr € df 5T AG ?

1) u3at & & : gBySt AT, U39r &
& . ggr gt g€ At w3 g
ot g¢ AT

2) uzat @ & : f3uzT A U39 €
&t . g9 {F d€ At W3 g9 o
g At

3) uzal & & diLt A7t yser €
st ggr {t d€ At M3 g
MBHAZ At |

4) y3Ist T & : FBYST AT, UFar T
&t . ggT {t g€ # M3 g9 HIs
T ATl

93. #AddT € W& §9 fau3sT FEs sta adt

J?

1) feg fea 23 oad ST J1

2) few &g dfawt &t g3t gwd a3t
At T

3) feg gwd Wals € ufgd Hosew
& Baer J1

4) feg rizwr =<t & ufan@e et
ZareT J1

[ Level-2 /1203 ]

94.

95.

96.

91.

At Age-8U »igAd mae fadar famd

g Je gs?
1) =n 2) &

3) s 4) 2

gfe gu T8 »ye & 9 J9 ¢

1) duf € &t d5 I I5 |

2) fegst fawt &9 3% &t

3) féa J¥ a7& It &dt A<t
4) wryeT ataE, yatfenr €fag |

e W WM3I ¥ IF BIT THM
H3arer fdabt a5 ?
1) & 2) Um

3) =n 4) 37

SIMYI/SIryd g9 faasT FEs sl

&dt 2

1) »iygt € U9 &9 U= =% faut-
fagt & Sarug e 7ier 3

2) feo gt € €v feutfdy Iw,
fagt € =93 Zar Far »ust &5
3t AT T

3) fagsr faut fég war I gwiw
Barer J, G Somya/sarug fagr
AT J1

4) feg geudt € Qv f3s feut fg
J& H BIH3T 3 fug” I I5|

P.T.O.
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98.

99.

100.

§Aa 3 &t = J?

1) €9 waw 7 € mue, Queai/Tar
& ffq g7 &8 #Azs A 335 €
JT9d dde IS |

2) 80 mee # © @<, W,
Gueat At Tt § ffa-gn 3%
A37 35|

1) Hu dar f&g d¢ fEa da=t 3a-
afeaq @7 &7 JI

2) wdgd M3 TS € AN JeHt &
ISt & & TS|

8) Hedt w3 ¥edt & dwt & bt
€ gy fu§ =t & J1

4) Nede &t & yfewd 593 Head J|

€9 fagzm ver A7 fewr 7 1 ‘Tfmwr

I gdfen f&g um &dt dfemr?

1) &an yams Sua feniar

2) IA-ygu fI9 ottt d= dae
Fqt & gy-gget § GIasT

3) 33T M3 HaT T WUt fumtg

4) ga & 67 Tt finedtdt =
nfor g

[ Level-2 /1203 ]
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faferm & yfaferr & dat g3

set faggT o gt 97

1) »fforya € Adted-HagsaT|

2) wferug =T gu-dari

3) fefemmgatyt € ya= fomrs &%
A |

4) fefewmaegtut & faus e wfguw
Col

ANt fesade & ‘THfgas A’ <F
AEUST ge Ji3t? few fums e &t
€< A2

1) mgusT : g@Er 1897 gt fs,
<" : WaY < Adted, Wafia W3
gust G5t

2) wEusT : HEt 1897 €t f39, 8w :
HeY € #Aded, WaAa w3
m3fva €53t

3) mEusT : 04 #@TEr 1897 gt f<9,
€< : ey & wafia w3 Tafia
CGE(

4) wEUsT : HET 1892 €. f&, =n :
HQY ©F Adled, dfugd w3 uafHa
CGEI

Adld fammaie md g97 gdte & fada
=fgrt @ A& ?
1) 90
3) 92

2) 91
4) 93
fget (sarug) fdatwt wzg=er &%
Baret I7?
1) T3
3) fI=

2) &
4) Um
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105.

106.

107.

% ot ‘W39 € uay’ fegs usa

W& & fdet 9 at Afewr Ifemr At ?

1) €ns mfewr mt fa €0 g3t 37
&It €3 Aae |

2) €ma mfewr Wt fa €7 ¥3 uT <
& 9% adt afde |

3) €ws pfen At fa €9 wee & &t
yig |

4) n& mfewm At fx €9 98 I8
dgfgnt § 993 fud@ gae 95|

feqt &9 faust s@s AT @ s

Afag €t &at T2

1) <ust Eniag

2) H®T 3 W'Y € ¥9

3) IESt Forarfe

4) FAw9 AfgsT

&t = g’ goret T Jud/Sfuar

d< I few & vy femr ot g?

1) 3ua : WEda g3d<er, femr : 1947
3 ufgst € sFdatt & yaret
FEged ATy

2) 3ud : whRd IfAns, femr @ 1947
I ufgst & dagbdt & yarst
gElged ATy

3) Jud : gBfdag dg, femr : s7&t &
fimmg & 83 w3 WIS &
79 J9aT

4) 34y : pufdeg o9, femr : »ufea
Har &9 sabit & fumg & we
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qgHadd fomg & &=9 & &t &F At?
1) »eEes dfois s

2) wifoHe mst

3) nifoHe T IBE™H

4) 33 HHE

v feawsy fagzT I, fAm € A9 € AW
HE< HU I8 7

1) #, ofar, 39, uon

2) W, d3, 937, fenmma

3) U3t fams, ateq, 9€

4) uz, dJie, fast, gw

a faozst afeunsa & four fapur
J?

1) ‘v s ugt &9

2) ‘FEe ygg 39 9

3) ‘ez Amy’ &9

4) ‘Wt gwe ot T

3T. MEES IS ATdY & MUS UR<d

Aies & gems a< w3 fan Amer 3

3t ?

1) 1956 ¢nst feg, ga3t dfam,
g9 w3 feamw Amar 3

2) 1960 gn<t feg, a3t U= ox
Arer (fend) 3

3) 1954 gn<t feg, ga3t g=et &9
Ej

4) 1955 €=t &9, Hedw € us3

P.T.O.
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113. 3% Uug €3 W3 g @ wfoua
AT 3 €30

114. 77 ffw »fes W3 yats a8 f&9

115. =t 3 feser ddwdls HdE I9
fagztut et @ ATedd A ?

1) fiet, wast w3 st
2) €ge, fiet w3 wawet
3) fiet, Anfeg w3 st
4) Goe, et w3 und
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116.

111.

118.

119.

120.

GET IT ON
Google Play

gH-fegas € weE-yfHu fa3w
maeTTonfe’ €T 93T de A w3 few
& g9aT fdg Jet?

1) 3989 : 993 Hal, Ig&T UA™
f&g It

2) IT&ET : II3 H&l, d9&T faud
f&g Jeti

3) JgsaT : I feum, s €39
yen f&g Jet

4) Ig&AT : Ufeat, I9aT Uay &9
Jet|

Sfagmr T2
1) um
3) f3s

2) 99
4) #is

Jodt &9 =93 AT BJImydr & I%
fareat faat g2

1) 9 2) &

3) =W 4) f3=

‘fd" e=zaT HIT=9 T dF FE-m9E T ?
1) ¥a '3 eI

2) fAg 3 &z &=

3) fAie € & ez&7

4) 75 '3 UF I TI5T

Aygs mfrrmus yfafert g9 HIS<yas
qedt @ wE oad fegedt T feast
& ot fagr 7T g7

1) wifowmus mst

2) wferus 99 (I9eEs)

3) wfforys m=wEr

4) offorys grad
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121.

122.

123.

124.

Ufg®’ sHa afe3s™ € JI3T Td6 AW

Aote wigng feg war fang =fsw@er

J?

1) ufo® dos = fenrt &

2) d&<dt & fagneww AeT d9s
TH Faeat §

3) g3t fawmar a& gwst w3 fous
q9s et &

4) ugdt & fumas w3 €aF =

I IadNt JIIGH ¥9 fausT qus st

g?

1) fer feost wmEoest wrfema
wagr & ggat Jet I

2) A€ JE I IHY IH HESA
of

3) nigwtenT UAdt & FAIG® = &F
fagr afer J1

4) TGS T »9g J, IH IH'Q I

H&t & g¢ § uet ufenr| fem =9
fS9° Jan a9x ug'< :
1) Hst

2) g
3) ust 4) w3

O}

IJgCuew Ffesr u=s godeust

fom yasa &9 =t aret 97

1) ‘mfgwn 3feC& ysAr

2) ‘Motafe AsH-g-ysAr fefggm <t

3) wsH € fAgaer T fIoue
fefgama Hotar<’

4) ‘FEH-EHBH-fET 9H3dd’
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125.

126.

121.

128.

129.

GET IT ON
Google Play

[27/A]

‘gt fafenm & yfafenr feg fea
mfmmug faost givar Aes3™ ya=a
fsg@er 372
1) fegdsr
3) mfga3T

2) THSIT
4) A9 I 3T I&

€=9-37 Unded fam 3g¢ & wifows
E ysar Si3T AT I7

1) »y3y wfows |

2) Y34 wifors|

3) Yy wiforis w3 wyIy wifons |
4) fegst &5 d€t <t sla &4t &1

get g9 fw #t <t fon 739 3 =
M3 ‘fyraret dat e @ JF = wdg
J?

1) fudger w3 U5 gz

2) UIzsT M3 daf fumar@er

3) dder M3 fEq yH furaer

4) JIST M3 UTAT ¢ © BW AT
gTgT By Bdie At € W3 AT @F aF &F
At ?

1) guAsT
3) HateH

2) BTIHT
4) "dls

IHE! AFST § FIHGT Q7

1) Fes T dNS, %S € dN%, USS
TT NS, fEus T dEs|

2) §Bc T IWS, UIE T oINS,
feys @r IA%, ASE € dES|

) uzs T Iy, feue T AW,
ASS ©F oNS, §%S ©F anS |

4) feys = IN®, ASs © O,
§BT T dFS, UFS T AAS |

P.T.O.
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130.

131.

132.

AHTAT-AgT <t Adt ufggm™r o<

1) €9 moe |7 wue wy &9 yas
fearst 3=

2) €0 WeE ¥ WS mEE I T4y
g1 &% gfemT Aer J|

3) Ac € A 35 muet § Az T f&a

-

1<

4) fAggr mee fon U8 wWee &8
TU3J (WA A fugzg) &
geer J|

A 37. €. Ul 7. WEes I8 Afdy

& wWudt A feur, 8€ €9 ot 39 39
HS ?

1) »Uys w3 HI3 UT A5 |

2) f&st feu fefaprastt &% Ao
9 IJ AS |

3) ‘mwast 3 wi=ws’ fem '3 fEa 3y
foey 3g A5 |

4) fadar &g IS € 30 A5 |

&2 vifswr | &t gaer I fem = &9

A0S dod ufgare -

1) &% vfswr

2) Hfswr

3) &t gger

4) ot gaer I
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133.

134.

135.

136.

GET IT ON
Google Play

ufggag aigr 32

1) feagquzr 2) 3I3Ua3
3) femaus  4) fe=g9 ufs=ass

Hasy A &dt J7

1) féedt €3 nufes mgse yes
qI5T|

2) d=® yfsgmst fefonragnt set
It Aofed 95|

3) feforraett § Y3y wigg= yes
qI&T|

4) fadhue 3 TBUsT FaA3t € feam
F9aT|

Adte 913 fiw fam mum & 3A<te &
THAT WUE % duer Jer At ?

1) »myst vt <t

2) St g3 fuwrat Maigae <t

3) FAdEd 339 AW AargT e

4) My wEdd M3 Sudial FHT
Jafenrs &t

fafenr femme fand wmue 957

1) fAo8 mue femme < fafour &
ne

2) fagg mae fafewr & aw fes

3) fruz muw fafenr & fermsT Enc

4) frags wmee fafeur AF ferme &
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137. foo3T mue fesaer o fequt &dt I?
1) yeFdsT
2) ©HIST
3) fagasr
4) fuymmasT

138. ‘A3bat AEl fd9 w8ty dg fezer &
Wy few 3 femer g9 af wmye =r
"3& Si3T I 7
1) aist ffg g veg <t uzst
FIgsT & = Usdt HEHY JuS €T
w3& a3t J1

2) 393 fiw € yg ufeeg € gagrast
& =t peBe T w3s di3T I

3) wyst fimrs €3t gt FO=
fiw &t goast § <t Ggas =
SuasT Stz I

4) geger € ffa o3 ‘Ted
ASbir Aetfs f@ faggor d¢
Wwifg” 3 & usat § #A<

IS & W3E 3T I

139. f8I®3 udy & A< Aded Suy fiw

7595 Ifed & WIS ﬁl?-f—@ﬂ' o
foofem ==t g '3 Uam 3+ €7 § o
y3T &I ?

2) fa »iaew AIa9 & Gn& fam I9
o f&9 37 &3 J1

3) fa € faug I T9e THUTS
feg Tz J1

4) fa €v & =7 J gar J|
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140.

141.

142.

143.

GET IT ON
Google Play
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fes feyQ@sr yor=d @ ot »Eg J?
1) »iedst oz SneT

2) dnsr fey@er

3) det yger &7 JueST

4) WY fens FaaT

St uAuT gre™s d< AG ?

1) H féed g JATS € I A& |

2) FAHH A<ET A& |

3) HI fé€d gHT JaAT® € U3at A5 |

4) 7%ug ¥ fema @ Gw fefoparat
" |

=95 duS o Wy ¥ gt fET faosT
de ois J?
() ¥y =95
(i) ¥u T95
(iii) =& fe=re
(iv) 7E8 795
1) (i) #2 (iii)

3) (i)™ (ii)

2) (i) M2 (iv)

4) (i) 73 (iv)

Adfde € #™9d HEY@ =Hld HE W3

TIHA™S et 3T a0 MI I8 Jet?

1) 12)—[8?1708%?5,%‘@?@
5% Bae Uz voetit feu

2) 12 wet 1710 €. §, s39F B398

3) 12)-[8"T17108"T.§,)‘-|3ﬁ€1€€

4) 08 HEt 1710 dm<t §, nafde
338 fiz wdue feu
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144. “tH3at foy faggg sHt, &ar g fedr

145.

146.

141.

Il

HJ JA& Afdy & Quias arfe-A3d
fe9 =93 I maw fag™z’ 3 o <=
J?

1) fost

2) ®nat fast

3) T-=gfat &t faat

4) ¢ wa9 ©f faz

g9gds fHw < feget ‘faes er

Afgarg’ fegs™ a9qa fam A W3 AEs

'3 FTYFET J7?

1) mf : 1945 B, FEE - B9
ot fea gust

2) W : 1955 @Fet, Fas ¢ femt
ot fea gust

3) mit: 1954 SNt AEs : ufenrs
o fea Hu=gat aBat

4) mdt : 1944 €nst, Ags : Mif3Ae
ot f€a Hu=gait a&at

HHTSTdES HAY fo(u::- ﬁ'?
1) wg 2) 89
3) fas 4) a9

Hafefarsa arssd & gg-gut Aotz
feg fd& yga = gut & yswr Jisr
g?

1) d7 yaw &

2) & ygw &

3) H3 ygw =

4) ©is yag &t

GET IT ON
Google Play

148. us GAsT € fesaue &g fagzsr 33

149.

150.

e st g7

1) Fiedg yA3a’ € HET gTTEeTI
2) €<wmt § ufggrz st

3) Gumt T femgus|

4) yrgItees |

‘ISt mae fam gmr = § W3 femer
at »Eg J7?

1) gmr: fi<t, »idw : =gew A fo3mt
2) W : g, My : f<Iut AT EAHE
3) g : G9g, »9g : JHA=d, AET A

4) 3w : UA, »@g : w9, g8t A

azal’ fam We '3 mrufag 97

1) & faast w3 wagdr &t

2) 393 & HHgd UfugeTs JI39
ffw € dzat '3

3) g3 & ¥ ffq gHleE € IIat
FasTHT '3

4) 3IHH Jad Ue Uss Tfemt atwt
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6. U B JM, I G=h ¥ fraiRg &=t @ & 9| qrEe A 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 5 < R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y B A T W T A S, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g ® & @™ g ® @

R TH Y T GE B A AT T A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

1. 6 Hﬂq-gﬁﬂ?ﬂ ¥ 39 waee & fe & T@ Tt e W E B / Rough work should be done only in the space provided in the
Question Booklet for the same.

8. T IW 397 OMR IR T& T & A | T IR SAMYEH i X I Tae o @ o0 (FHe wgs) H TAT Mg &1/

The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

9. UF U & fow Ru U AR e § & ot faeey 3 T OMR ST W W F99 T g9 & & [0 T FM a6 @Re 1 W
Tp d I JifFT B B 9B IY To Tl o Gl %I / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

10. =t gifaa & % 50 oW % B Al T I Ud 39 W A I PN T am ot ot i St W § fEiRa e
% oifafted o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

11. J-JKH T S T B ANEE T H, F@ie b 9 oRRefy § [peT-gRae S T & BHE 5 R @ R @
@3%_{] {ﬂ'& a9+ gﬂ?ﬁﬂ T Iuey & Eb'@'lg vn@fn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

12. QQ:T—W/BT‘R T 7 ﬁ"\’ T A B 1l e ql% | sEir =@ § € / The candidates should write the correct Number as
given in the Question Booklet/Answer Sheet in the Signature Chart.

13, ol B qlen St/ ¥ 9N w Ol UEEM U & SfaRed Rl SR @ ured-anen, a1 ST FIST 1 ufE, T, AeEEd
'#Ff, Wﬁ% JUHT AT FhE ST TR & G B S AT SUART B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

14. WA gRT ‘1@ TN W TG A U AN HE I_'aﬂ o] 3R Te=™ U R@W| / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

15. &= ofed a1 qHaud @ 9w aqgwi%r % fomm ﬁ'% et ST WM T éﬁ%ﬁ / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

16. FHERG THAEh B AT I T [U B 06 BEER G W AR eRER U R ol olen e T eieh Ak el erwedt 1
A0 R WK A W EWRR Te Y qF a8 qA O % I IO T AE Adern & AR Fe Sfd | H A qE S
OMR T % 7 FHiRg @M R ¥ 7wl art a1 e & SfS &1 MM @ oI 81 oS & Femey T & &6 919 &
& @l WY @ 9 A & & &g oy oniq @l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

11. s@a@*‘rﬁm/mﬁﬁ UReheih 1 SUANT AT 81 / Use of Electronic/Manual Calculator is prohibited.

18. YN & 7 RV & [, v Rerem # & ® ubk/Ren-Few @ 9% & @9 e @ R @ RS e @ ogRa aner &
ol AR # e 9% 3wt o e @ FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

19. el e & QQ:T—W AN TR TF H Eh:fg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

20. TOET @O BN W, ol e/ Bie § U4 IR TS Fe-Tdawd B ofaed A 31 ond oTR | 36 Ue-gRaE @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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